L

0
olo
Eill
olo

__oo

1. FOlAl FO|Af

ST (ANC

k=3

1) ALl T34 (ALC; absolute lymphocyte count) 500 ceIIs/mm3 0|2, Acy

= 0

ALOi|A|

iof)

. 3 _ _
absolute neutrophil count) 1,000 cells/mm™ 0|2, €= 5222481 £2| 9 g/dL 0|2+l

ju

H

ol
o0

ol

|
e}

__o_l

Z| Wi7tz] Of

RN
N

2

Ol

g0

1\

o1
ol

ol

1

i

o 28 = floll €AIH2=Z 0

ol

I
[

=]

Z324n

__O._
<

~0O

HI

0

ol

| 5mg, 1Y 22| £0{0IC}.

=)

CYP2C19 2/E= CYP3A4 AAHAHE £0{=0 3ix}, 25

o]

8| 5

or
o
ra|
W
Y
=i
__ﬁ l_ﬂ_l
m 1o
[s) [=) [=) EB
uk ut uk cul
p— —_— —_— vy —
ol ol ol ==
oll ol ol i1 % MF
e -  Sx
| g0~
€ € € Pl A=
No | X0 =~ ©
N [t = lwy YT
i n
o ml_
= il
™ i
T L
. 1o <
YL B
R o X £y
ﬂ%Wﬁ = = qﬁ
=X < o c
%W%% e P 2
opd 38 o g8
I mx Wz B g S
e & XNogo off 2 o
SIS H o —
o> Z:;_ -~ v _
2 O= 9 o H = KT o o
7_._._I.| ol — __Ot ol = o o
|1_|__o.__|_._ K o|,z_oz_o ulua e N
—| omAEruo | ~nuloulo o )
ol o_Dmo S oo R >
Zd oraoMo g oo ol 2 =




e ey

—

Ko
wr

FOE[AA| A2t E

F

=)
[=]

3]

0]k

3

ANC 500 cells/mm

oy

Z|UCE. O] 712k Liof

F

R
=

HOF StCt.

165 Li{oi| 2t
[e]

S
T

Of Al2f

o< O &
EN{OFS H

oF E
—/ T
0| of

OF — ]
4Bo
N g

o] — ¢
o1t of]

oo - OH

F

=1
o

3

2
(=]

| =

=)

2

o

| 5mg

|5mg 1 2
3

1

=

Ql
=

oigel 32, 1

_%_
| 5mg 1¥ 23|2 ESQ E2, 1

=)

13

Ok
2

o|2 &

k=)

| 5mg 1¥ 2

=)

=

CYP2C19 /&= CYP3A4 HAAHE E0SQI 22t 2 S

b

—

3
ALC 500 cells/mm™ O|Gt

°

=
=

aed))

k=)
2l

(BI=AHALZ

— ud

._mﬂ Eo

c &

o Wy

- &

S E_|

B

ol  OF

RO

20 ol

ol &

g Uk

oM

2o
[ =

) oo
' —

<o

£

> E

o 2

U o)

Sa

o —ol

1’g|

L E°

NoS

> — N

<ol N
m

e

&

S~

%)

o

(@)

o

o

OI

o

S

LN

)

pd

<

tCt

o



3_ _ _
ANCZt 1,000 cells/mm”™ 227t £|™, 0] 2k 13| 5 mg 1€ 23|2
CHA| E045tCt

3
ANC 500 cells/mm™ 0|2t

£0l S

ol2==281 +2(7t 2 g/dL =19
24 = 8.0 g/dL OJBF

S22 28 £2|7F YOl 2 U7tR| &0 Y S

oX
[m)

=2 = 1=

ol

al
ts

r

{EHMHS(VTE), ZR Ay

P2 24| 770 J2GL0] 74|

A Ol ¢BS(MACE) & S E2| ?Id A7t U= 2ol 32 0|&

O -



